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Q1) Attempt any two parts of the following : [2 × 5 = 10]
a) Enlist the sources of water and explain about hardness of water.
b) Discuss about suspended solids and turbidity of water.
c) Write short notes on the following.

i) Sedimentation
ii) Coagulation process

Q2) Attempt any two parts of the following : [2 × 5 = 10]
a) What is fuel? Discuss about different types of fuels used in Boilers.
b) Discuss the effects of impure boiler feed water in the operation of boilers.
c) Explain the following.

i) Reverse Osmosis
ii) Membrane separation

Q3) Attempt any two parts of the following : [2 × 5 = 10]
a) Differentiate between saturated and superheated steam and explain dryness fraction of steam.
b) Distinguish between modern water tube and fire tube boilers.
c) Explain the following.

i) Pressure Reducing Valves (PRV)
ii) Mountings and accessories for boiler

Q4) Attempt any two parts of the following : [2 × 5 = 10]
a) Describe the working principle of cooling towers and uses of inhibitors in its operation.
b) Write short notes on the following.

i) Equipment used for humidification
ii) Different methods of refrigeration

c) Enlist the different refrigerants and explain the Coefficient of Performance (CoP)

Q5) Attempt any two parts of the following : [2 × 5 = 10]
a) Explain the following.

i) Process of getting instrument air
ii) Regeneration of drying unit

b) Enlist the applications of Compressed Air, Process Air and Nitrogen inert gas.
c) Write short notes on the following.

i) Thermic fluid heater
ii) Steam traps

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O`o &

à.à.à.à.à.1) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]
A) nmZr Ho$ òmoVm| H$s gyMr ~ZmB¶o VWm nmZr Ho$ H$R>moaVm H$s ì¶m»¶m H$a|&

~) nmZr ‘| gñn|S>oS> R>mog VWm BgHo$ J§XbmnZ H$m dU©Z H$s{OE&

g) {ZåZ{b{IV na g§{já {Q>ßnUr {bI|&

i) go{S>‘oÝQ>oeZ

ii) H$moEoJwboeZ àmogog

à.à.à.à.à.2) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]
A) BªYZ ³¶m h¡? ~m¶bam| ‘| à¶moJ hmoZo dmbo {d{^Þ àH$ma Ho$ BªYZm| H$m dU©Z H$s{OE&

~) ~m¶ba àMmbZ ‘| AewÕ ~m¶ba ’$sS> dmQ>a Ho$ à^md H$m dU©Z H$s{OE&

g) {ZåZ{b{IV H$s ì¶m»¶m H$s{OE&

i) {dn[aV namgaU

ii) {P„r n¥W³H$aU

à.à.à.à.à.3) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]
A) g§V¥á ^mn Ed§ A{VVm{nV ^mn ‘| AÝVa ñnï> H$a| VWm ^mn Ho$ S´>mBZog ’«¡$³eZ H$s ì¶m»¶m H$a|&

~) AmYw{ZH$ Ob Q>çy~ Ed§ ’$m¶a Q>çy~ ~m°¶ba ‘| {d^oX H$s{OE&

g) {ZåZ{b{IV H$s ì¶m»¶m H$a|&

i) àoea [aS>çyqgJ dmëd (PRV)

ii) ~m°¶bg© ‘| ‘mCpÝQ>¨½g Ed§ E³gogarO

à.à.à.à.à.4) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]
A) erVbZ Q>m°dam| Ho$ H$m¶©{gÕmÝV Ed§ CZHo$ àMmbZ ‘| à¶w³V àmdamoYH$m| H$s {ddoMZm H$s{OE&

~) {ZåZ{b{IV na g§{já {Q>ßnUr {bI|&

i) AmÐuH$aU ‘| à¶w³V CnH$aU

ii) àerVZ H$s {d{^Þ àUmbr

g) {d{^Þ àerVH$m| H$mo gyMr~Õ H$a| Ed§ H$mo{’${gE§Q> Am°’$ na’$m‘}Ýg H$s ì¶m»¶m H$a|&

à.à.à.à.à.5) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]
A) {ZåZ{b{IV na g§{já {Q>ßnUr {bI|&

i) BÝñQ¯>‘oÝQ> EAa àmá H$aZo H$m àmogog

ii) S´>mB§J ¶y{ZQ> H$m [aOoZoaoeZ

~) H$åàoñS> EAa, àmogog EAa Ed§ ZmBQ´>moOZ BZQ>© J¡g Ho$ Cn¶moJm| H$s gyMr ~ZmB¶o&

g) {ZåZ{b{IV na g§{já {Q>ßnUr {bI|&

i) W{‘©H$ âbyS> hrQ>a

ii) ñQ>r‘ Q´>¡n
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